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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) ¥ F97 & G YTl & FHAR T G §T B |

Solve all parts of a question consecutively together.

(iii) Ned% 59 &1 79 Y8 8 IR Fiford |

Start each question on fresh page.
(iv) @ grarsi 7 3R 817 %1 [Rfa 7 A 37 & A @ |

Only English version is valid in case of difference in both the languages.

Answer the following in brief :

() gId S
Duty & Delta
(i) fawes-dar
Divide-wall
(iii) STET-SACT
Water-logging
(iv) ST Herd
Gully-erosion
(v) TR-FY
Deep-well : (2x5)
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Explain in detail Kennedy’s silt theories.

T8G9 g% ST-Hq Tl T GHE |

Explain with sketch Aqueduct and Syphon aqueduct.

e L1 I WTferd ShUA ITet Uehl bl HHETE |
Explain factors which affect duty of water.

Toed S W bR A 1 fafirs St o wHee |

Describe different forces acting on a gravity dam.

Tafim = <t forei ot e sy |

Describe with sketch different types of strainers.

it e ) afes aweTed |

Explain with sketch trough spillway.

TRE 91 o8 &) R @ awEms |

Explain Groynes or spurs in detail.

T&=s & @ 3 g fafee |

Write advantage and disadvantage of irrigation.

“firee 3ot A1 TR i T THEE |

Describe with sketch “Silt Ejector or Extractor”.

Rl % fawet B & it S ) ame |

Write different causes of failure of weirs.

& < w3 B e § ey |
Explain Canal lining briefly.

“3T9aTE” ! NI A 9Tt T2 Sl guemsd |

Describe factors affecting “run-off”.

Rrerr-warg @t =1 wfes anemsy |

Describe with sketch Rock fill dams.

foewm e At N afkm awemsd |

Explain Sprinkler method of irrigation with sketch.
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